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Sequences & Nth Term

Square Numbers Square Roots Cube Numbers
1x1=1 Vi=1 1x1x1=1
2x2=4 Ya=2 2x2x2=8
3x3=9 Vo =3 3x3x3=27
4x4=16 Vie=4 4x4x4=64
5x5=25 Y25 =§ 5x5x5=125
6x6=36 V36=6 Cube Roots
7x7=49 3239 = 7 Yi=1
8x8=64 63 =8 V=2
9x9 =81 Y81=9 V27 =3

10 x 10 = 100 Y100 = 10 Ved =4
11x 11 =121 Y121 = 11 Vizs=5
12x 12 = 144 Viaa =12
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Example Your turn...
Find the nth term rule: | | Find the nth term rule:
8 10 12 14 || 7 1 15 19
AN AN ] AN ANLS
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h=6 h=3
nthterm=2n+ 6

J/ \_ nthterm=4n+3

FIBONACCI SEQUENCE

A series of numbers, starting from O where every number is
the sum of the two numbers preceding it

0,1,1,2,3,5,8,13,21,34,55.... and so on
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Key Words Substitution into Formulae Substitution into Formulae (with rearranging)
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Key Words
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gradient

y-intercept

parallel

perpendicular

Yy=mX+c

Maths

m = the gradient
¢ = the y-intercept

Parallel Lines

Have the same
gradient e.g.
y=2x+1and

y = 2x — 4 are parallel

Perpendicular Lines

Are at right angles.
Gradients are
negative reciprocals
eg. y=2x+1and
y=- L
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| Graphs you need to kr
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x = graphs cut
through the x-axis.

eed to know

y=x

For this graph all of

the y co-ordinates
are the same as
the x co-ordinates
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y = graphs cut through
the y-axis. This is the

This is the graph of graphofy=4
x=2
Finding the gradient
Rise= -4
Run = T
-
Gradient = 7

| Plotting graphs
 Plot the graph of y = 2x + 1 |
y 1 3 5
r .I A
2x04+1 ’ 2x2+1
©,1) 2x1+1 (2,5)
' See point E
See point C (1,3) H

See point D
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